
LO: Number bonds to 20.

1.  18 + 2 =    

2. 16 +      =20

3.       + 9 = 20

4. 15 +    = 20

5.  7 + 13 =    

6. 3 +        =20

7.       + 6 = 20

8.  2 +       = 20

Calculate these number sentences:

Fill in the missing numbers:

15. 20 - 2 =      

16.  20 -      =16

17.       - 3 = 17

18. 20 -       =11 

19. 20  - 9  =     

20. 20  - 5  =     

21.

22. 

23.

Put the numbers in the machine that we need to make 20:

19 14 8 0 4 17

2020 20 20 20 20

14  15  16

13  14  15  16  17   18

5     6    7    8     9    10

20  21   22

15

5


